
Navn: 　　　　　　　 Dato: 　　　　　　 Score: 　　　

Procent af tal (manglende tal)

________ × 90% = 18 ________ × 20% = 0.8

________ × 20% = 12.6 ________ × 80% = 29.6

________ × 60% = 21 ________ × 90% = 21.6

________ × 50% = 15 ________ × 50% = 27.5

________ × 60% = 51.6 ________ × 50% = 49.5

________ × 40% = 3.6 ________ × 60% = 42.6

________ × 60% = 41.4 ________ × 10% = 9.1

________ × 50% = 21 ________ × 80% = 31.2

________ × 40% = 14.4 ________ × 30% = 19.5

________ × 60% = 15.6 ________ × 30% = 12.3
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Navn: 　　　　　　　 Dato: 　　　　　　 Score: 　　　

Procent af tal (manglende tal)

20 × 90% = 18 4 × 20% = 0.8

63 × 20% = 12.6 37 × 80% = 29.6

35 × 60% = 21 24 × 90% = 21.6

30 × 50% = 15 55 × 50% = 27.5

86 × 60% = 51.6 99 × 50% = 49.5

9 × 40% = 3.6 71 × 60% = 42.6

69 × 60% = 41.4 91 × 10% = 9.1

42 × 50% = 21 39 × 80% = 31.2

36 × 40% = 14.4 65 × 30% = 19.5

26 × 60% = 15.6 41 × 30% = 12.3
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